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Chapter 11 Review
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Write the first four terms of the sequence whose general term is given. e N
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A)3,6,9,12 B)1,4,7,10 C)-6,3,12,21 , 12,21,30 =30
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A) 4,8,16,32 @, , 8,16 €)1,2.4.8 D)1,4,9,16
Write the first four terms of the sequence defined by the recursion formula.
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A) 6,-18, 54, -162 B B) -6, 20, -56, 164 A
@—6, 18, -54, 162 D) -6,-18, -54, -162
Write the first four terms of the sequence whose general term is give a _) Q‘r
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A) 4,24, 144,960 B) 12, 96, 720, 5760

2,48, 240, 1440 D) 4,12, 48,240
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Use the formula for the general term (the nth term) of an arithmetic sequence to ﬁnd the indicated term of the sequence
with the given first term, a1, and common difference, d. 29 - L
\ 1 A
11) Find ag whenaj = 3,d = -2. kn=0\ ks 1‘} O{' = = 11)
Re= 2 £+ (g~ }(-2)\
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12) Find agzwhena1=3,d= -1. .
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Find the indicated sum.
e sum of the first 40 terms of the arithmetic sequence: 17, 24, ’S] 38, . 45 ‘ 1+ (CIO' } 13) (
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14) Find the sum of the first 70 terms of the arithmetic sequence: 1,-7, -15,-23, ... 14) | 1

:70(.-%0 ra\’)O a= ~g o e
— Ay = ¢ {:..
. 619,250_. B) -559 C) -19, 24111+ G{’q)( g;

Use the formula for the sum of the first n terms of an arithmetic sequence to find the indicated sum.

% =t ¢ SINTE=\3 B~ =€ |
15)i§1(51+8) t=a! < (Die= I8 OL( 13 13 _C
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A) 3906 B) 35 3618 D) 3780
7 9 (%)
29 (Y 8 - +" oI ®
16) ¥ 6i+7) L=\ =4DOFT= | S~ A - L. @2‘1 ' i
=1 L=ay —(DY1= " _,Z: a\= |\ s =]
[ = 3 L (% ) o - -
gozq o?ﬂ { 1—15’)\ L=3: ~-b()1 o A=a9

=(CR407)
A) -2320 — B) -2189.5

Write the first five terms of the geometric sequence,
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A)4,2,0,-2, -4 B)M, -8, 16,-32, 64 S
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Use the formula for the general term (the nth term) of a geometric sequence to find the indicated term of the sequence
with the given first term, a1, and common ratio, r. \

19) Find ag when a1 =3, r = 4. Rn = Q) G et g 19) D
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Use the formula for the sum of the first n terms of a geometric sequence to solve.
ic sequence: 2,6,18,....

21) Find the sum of the first five terms of the geom \
Sn= o (1= = C’ZC,""'_.L )_Oi"f‘c)

. 42 B) 47 S | )26 1=3) pym

22) Find the sum of the first 11 terms of the geometric sequence: 7, 14, 28, 56 112

Sh=d (i), =7\~ =.14329
L =) -1
A) 14,309 B) 14,331 Q) 14,366 (:9 14,329
Find the indicated sum. Use the formula for the sum of the first n terms of a geometric sequena.
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Use the Binoemiakiikearem to expand the binomial and express the result in simplified form.

27) (x + 3)3 0 3y ( Ry (!
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A)3x+9 B) x3 +27
C)x3 +3x2 +9x + 27 @x3+9x2+27x+27 -
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A) 16x6 + 8x3 + 64 B) 16x2 + 16x + 4
64x3 + 96x2 + 48x + 8 D) 64x3 + 96x2 + 96x + 8
Find the term indicated in the expansion. . C.
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